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[MEASURES OF CENTRAL TENDENCY OR
STATISTICAL AVERAGES)

(Mean, Median and Mode)

T w9 (Simple Arithmetic Mean)—
1. ©% tafw gro fo ma o finde & = (fipit, ) & 10 v =

w8 | 5T W WRTAR W @ i —

The measurements of the diameter (in milimetens) of a cylinder recorded by a
scientist were as fallows. Find the Amthmetic Mean of the measuremenis. —

V88,409, 397,102 406,398,392, 401, 39.5, 402

Solution :
X = E;I “:;2 3982 ferwfiedrer
2. 12 sftaml & wfaw sma (v, §) = ywn £ o0 e ) oy

The following are the monthly salaries (in rupees) of 12 families. Caleulate the
anlthmetic mean. —

S. No. 4l 2 ) 4 5 ] 1 5 9 0 I N
Salary(Rs) - 280 180 96 98 104 75 KO 94 100 75 600 200
Solution ; X = % I:;Ezu 16517 &,

3, fr= weiwl @ wequ sih e ff o waem s wm @il —

Find Arithmetic Mean from the following data by direct and short-cul
Sdents : A B C DB "F._ G W
Height (Cms.) : 155 153 168 160 162 166 164 IS0 157
Solution :

wey afft = Tf g =T W (Mean) % TR
" Height Direct Method

A 155 =

1] 153 -7 = JT‘HE

C 168 +8

D 160 0 = 163

E 162 +32 Short Cut

F 166 + 6 -

G 164 i X=A+

H 180 +20

= |60

| 157 : -3

) 165 - NS TiYs =160+,
N=10 3XX=1630 H:H = 163
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2 | wifges)
4, T% wirand 8 28 wagdl g gra gagh & e wisd 8 wEn oy
e wifa—
Caleulate Arithmetic Mcan from the (ollowing data of wapges received by 2
wsthers in a [actory —
Wages (Rs.) 0 20 M 40 0 6 70 0
Mo of Workems 4 3 3 4 | p | |
Solution :
Wagrs No. of Workers
(X) (Rs.) " ) =
10 4 -H.'.I' N = lf
=0 3 100 0
30 3 150 _ & ‘
40 4 16D 13 e s
50 ] 150
60 2 120
70 I 70
al ! B0
N=213 I,r"l‘-!‘?ﬂ

s, Freferfan ufvza sfaen A wan qmo @@ 61—

Find anthmetic mean from the following discrete series —

X 9 E 7 o 5 4 3 d | 0
[ A 3 4 & I 1 B 5 2 |
Salution :
i P 7 6 s 4 3 2. 1. O
f | 2 3 4 L I 10 L 3 d I NuS
/A 18 4 28 3 55 4 18 10 2 0 Ix=2
o . 21
= =% 462
6. fr= it A— () wray @f gro; am (9) 9 @ faaes A Ay o

ErTl ST W) T A —
Calculate Mean from the following tsble—{a) by direcr method; and (b) by shor

cut method taking deviation from 9 .—
& 6 7 R 9 10 1 12

) s K 9 12. 6 [ 4
Solution : 2

YT /X  drfromB  fdr ﬁrﬂfﬁhﬁ:
1 30 =3 10 X LE'?&'

r i ] | 56 -~ | -8 l
8 9 72 0 0 = KA

9 12 108 I 12 Short-cut Method
10 1] 60 2 12 —
I 6 6 | IR X = #*I#ﬂ
12 4 48 4 16 40

=Re—=88
N=50 X/ = 440 Y/dX = 40 ‘s
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10 Students contributed Ry, 5 each

1S - Re.d ..
% - Re 3 .
30 g Re2 ..
20 - - Re. | .
st s {Mcnn Contribution) ¥ Wifad |
Solution :
mﬂmmqmwtm simer (X) v faorfifal | W ()
Ll
X / X
5 10 50 - o m
1 15 60 N
3 25 75 .5
2 10 0 100
| 20 20 = 265%.
N =100 265
8. freifafaa ToH! ® WEET T (A M) 79 Hif—
Marks 0—10 10—20 2030 30—40 4050
No. of Students 10 12 20 18 10
Solution :
Marks MV.) [ N
0—10 5 10 50 X = zf,’—r
10—20 15 12 180 Sie
20—30 25 20 500 e
30—40 35 I8 630
40—S0 45 10 450 = 2586 Marks
N=70 XX=I1810
9, fi=1 wefawTen W WHRT WA (Arithmetic Mcrnn]mlﬂfﬂ:—
C.L 16—39 40—43 4447 4851 5255 5659
f 7 I 19 3 17 10
Solution : ®
Marks M. V. (X) ! "
36—39 375 7 2525 - =
40—43 415 1 4565 7 o X
4447 455 19 8645 NS
48—51 495 3 15348 _ 4910
52—55 53.5 17 9095 100
56—59 57.5 10 5750 = 4910
60—63 61-5 5 3075
100 49100
10. foret & TR (Mean) T FAG:—
womer (Mid Value) : 10 12 4 16 18
(S T Y 9 “l,l

»

.= = =
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Solution :
Mid Value (X) J X
10 4 - 40} _"‘ = m
12 5 96 SN
|t: 12 168 26
19 04 “ w0
18 T 198 : o
B & 120 = |54}
Ne=td 926
11. Pyt oferw o ow wilen of faanief ¥ grats fed o
(Mean Marks) 37 wifan Lihliaal'-
th:rt.; No. of Students Marks No. of Students
) 1 H}—m I-.l
20— 30
= i | B8 ;
80— 50 10 90— 100 e
20—60 12 X
Solution -
Marks ML VLX) J Y
;l::}g 15 2 0
29 4 —_
040 15 5 :";.l'.; X = WX
40—50 45 10 450 5
SO—80 54 12 660 4,950
60—170 69 17 1,108 © R0
20—80 75 16 1,200
B0—00) K5 10 850 =il
— 90— 23 4 180
80 4950
12 h:fn‘—-ﬁm W o S WY o wifed.
Calcul nthmetic M fmm the rnlln-mgdun e
10—20 4 60—170 -
2030 5 0—s0 ]
30—40 6 ¥ 80—50 4
—0-% 90100 !
—— 8 e _L
Claws I &'x from 45 &y
0—10 2 -4
10—20 4 £y ]g
20— : -2 2 10
MM - -':lI -6 X = 4 +mul \
H s | - “:l s |
i ; F = Hi-ikm'
—~N-—0 | 3 ; o
— 40 —d il
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